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20232 HHE SES3H A=s0stH S

T
L

+ o 9 = noE o =
20238 MRS | _ . | 20228A€E | _ | = o 20233 HHE | _ .| 2022899% | | = oren
3 = 2w | TN anaz oge | TAI | BOE 3 = 2oige | 7O ana o | O SOEE
(A) (8) (A) (8)
s=249 108,091,180 | 98.6 | 108,558,000 | 98.0 | 466,829 =4 58,374,990 | 53.2 57,191,458 | 51.6 | 1,183,532
EEBEE
ae - - - - - 2212w 14,941,090 | 13.6 26,054,785 | 23.5 | A11,113,746
T -
mETAPeY - - - - - e meruzw 23,385,103 | 21.3 20,082,118 | 19.9| 1,302,985
mEYIIPe 1,556,534 | 1.4 1,895,084 | 1.7 | ~308.55 RSl 260,500 | 0.2 408,000 | 04| 147,500
= At _
TR - - - - ~N=z= 9,000,000 | 8.2 628,784 | 0.6 | 8,371,216
T -
SR TLAF [H2F
QBT 0= 3| 0.0 4862 | 0.0 £4,859 |11l 104,580 | 0.1 79.423 | 0.1 25,157
T -
] =Xt eIEr
| - — — — — - — — — —
S e ana
DEAN Y
IFSH U3 - - - - - [REE 3,581,505 | 3.3 430,192 | 3.9 A738.687
EEapy - - - - -
DR - - - -
8 109,647,717 | 100.0 | 110,457,985 | 99.7 | ast0.e3| & A 109,647,717 | 100.0 | 110,764,760 | 100.0 | ~1,117,043
2 X 25
=g - - 306,805 | 03| 306,805 DA =X - - - - -
EPEI, EYETT
AR 10,647,717 | 100.0 | 110,764,760 | 100.0 | A1,117,048 g5 =00 109,647,717 | 100.0 | 110,764,760 | 100.0 | 1,117,043
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A = 0O & A

(2023 038 01LRH 20243 028 292 tXl)

1. ¢ (Etel: el
o = 20233101 | 20223 H S —
- ~ — =g | 3uEY ooy | O EE 2
& g = (A) (8)
5100 SSE==¢¥ 108,091,180 108,558,009 A 466,829
5110 S=E==¥ 108,091,180 108,558,009 A\ 466,829
5111 - - -
sSFgsas
g -
5112 688,220 601,730 86,490
etdgs= e MFAMEY SE= BAM F2>
—JISUHZHSE SA 18Xt 620,000 x42H 26,040,000
—JISUAEZUHSA A 25X 620,000 1 620,000
—JISUHZ A AAF 38Xt 620,000 %1 620,000
—JISudEUSE HA 38MAF 620,0008 1 620,000
—JISUHZHEA AAF 48X 620,000 x2H 1,240,000
—JISudEUSE &A1 R 830,000 %928 76,360,000
—JISUHZHEA 2FAF 38Xt 830,000 6 4,980,000
—JISWEEUSE A 457 830,000 1 830,000
—JISUHZ A 2HAF 65X 830,000 x4 H 3,320,000
—JISudEUSE S AL 1SR 830,000 5 4,150,000
— PSR A AL 181Xt 620,000 %108 66,960,000
— Alstiista HAH 15X 620,000 %2918 180,420,000
—alsttist@ HAF 2R 620,000 x6 S8 3,720,000
— AIstiista A AF 35X 620,000 *6H 3,720,000
— Astiist@ A 45X 620,000 *3H 1,860,000
— A MASIISE A 188X} 620,0003«17E 10,540,000
— WSt A 15X 620,000 *783 48,360,000
— WSS A 35X 620,000 *1H 620,000
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@stesoz
— 2N S=3
—TeiHY S=23
—HSHE S=3

4
[ e e

SANIA FE>

'9,996"H 34,984,494,000&
'6,984"H 29,340,142,000&
"1,632°H 6,754,242,000&

34,984,494,000
29,340,142,000
6,754,242,000
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= 2028B NS | 202281 09E | .o
= glaron | ax=a opros | SAZ HEa 2o
% 2t s (A) 8) )

— BA=SI0EA AAF1SEXF 620,000% *38H 23,560,000 &
— MEHEHR A AN 18X 620,0002%155H 96,100,000 &
— AEHsHR A AL 258X 620,000 %45 2,480,000 &
— AEHSHRI A A} 3SEXF 620,000 +2H 1,240,000 &
— 230 =& A AF 18X 620,000 %41H 25,420,000 &
— 230l =& A AF 18X 620,0003+12H 7,440,000 &

(® st 2sH)| st=2
—JESNNIUSA &AF 28K} 620,000 +1H 620,000 &
—JIESndEZsta A A 38Xt 620,000 1S 620,000 &
—J|ESnNHIUsHA BEAF 18X} 830,000 x12H 9,960,000 &
—JESnNdESsH BHAF 28Xt 830,000 x2H 1,660,000 &
—J|ESNNMIsHA BEAF 38R} 830,000 +1H 830,000 &
—JESndEZsHa BHAF 68X 830,000 x3H 2,490,000 &
—JESDNNIUsSHA ABEAF 1S X} 830,000 %3 2,490,000 &
—J|SnNIOSHA ABFAF 6 X 830,000 *1H 830,000 &
— BHHSHR A A 18X 620,0002%100H 62,000,000 &
— ASHIHSHR A AL 28X 620,000 x5 3,100,000 &
— pISHIHSHRI A AL 3SHXE 620,000 «1H 620,000 &
— ApISHIHSHR A AL 4SHXF 620,000 +3H 1,860,000 &
— BA=EXUHER &AAF 18R 620,000 +5H 3,100,000 &
— AMEHHSHR A AL 28X 620,000 %45 2,480,000 &
— AEHSERI A A} 3SHXE 620,000 1S 620,000 &
— AEHSER A AL 5EEXF 620,000 %2H 1,240,000 &
— 230 =sHEA AAF 28R} 620,000 %4 H 2,480,000 &
sl 688,220,000 A

1 87,986,360 89,018,277 A1,031,917
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o = 2028BNSE | 20228 09E |
= glaren | anEa gaos | SA3 HEa 2o
e ] 2 (A) 8) ek

—HsHE S5 2! '3,671'H 16,702,192,000& 16,702,192,000
© 222 SHEFSHE 29

— MBS = 000& 111t 9,990,000
— SIS = 000&*100sHA 9,000,000
@ HEsD &Y

—StAHAHIES )| =22 90,000&%970sH A 87,300,000
—=SHAHESH| =2 = 90,000&*1,100s+H 99,000,000

gtH:| 87,986,360,000
5114 19,416,600 18,938,002 478,598
et == <K NEBAIE SE2 AN &E#E>

—JISHNNMISHSHA HAF 18X 3,770,000& x42H 158,340,000
—JIESndEZsta A A 28Xt 3,670,000 %2H 7,340,000
—JESNNIUs A 28K} 3,670,000 +1H 3,670,000
—JSnNEIUSA AAF 38X} 3,670,000 *39H 143,130,000
—JESnNNIUs A AL 38X} 3,670,000 +1H 3,670,000
—JSnNEIUSHA AAF 38X 3,670,000 +1H 3,670,000
—JESNNIUsSH &AL 48K} 3,680,000 %5 18,400,000
—JSDHEIOSHA B8FAF 18X} 4,550,000&x92H 418,600,000
— ) SWHMEHSHA BEAF 28X 4,432,000& *x20H 88,640,000
—JSDNEIOSHA BFAF 38X} 4,432,000&x73H 323,536,000
—JESNHNIUSHH BAF 38R} 4,432,000 +«6H 26,592,000
—JSHNNEIOSHR BHAF 48X} 4,440,000 «9H 39,960,000
—JESENHNIUSHH BHAF 48R} 4,440,000 +1H 4,440,000
—J|SDHEIOSHA BHAF 58X} 4,440,000@x67H 297,480,000
— J)ISWHMEHSHA BFAF 68HXF 4,363,000&*x21H 91,623,000
—JSDHIOSHA ABFAF 1&XF 4,550,000 +5H 22,750,000
—JI=snNdEZ0stal AB8rAF 2SHX} 4,432,000 %x2H 8,864,000
—JSDNHIOSHA ABFAF 38X 4,432,000 +3H 13,296,000
— ) SWHMEBHSHA HBEAF 48X 4,440,000 x6H 26,640,000
—JSDNHEIOSHA ABFAF 58X} 4,440,000 «4H 17,760,000
— JISHWMEBfSHA HBEAF 68HRF 4,363,000 *3H 13,089,000
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J

4

O b W NN —

N — J
O o
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J

StAt 4,363,000&x15H
St SEES
X+ 5,200,000& %1082
Zt 5,200,000& %9

X+ 4,050,000& %2912
Zt 3,945,000 3

Xt 3,945,000 6

Xt 3,945,000 %280
X+ 3,945,000 6

Zt 3,965,000 22X
Xt 3,965,000& 3

Xt 3,965,000 %270
3,896,000 22
Bt

4,500,000& 17X
4,317,000& 14
4,317,000& 17X
4,337,000&*16H

S EZ=
S

(=R ]

,500,000&+78H
17,0002 +3H
317 000&+664H
317,000 +1H
,337,000& 29
,337,000& 64

Zt 4,500,000 x38H
b 4,381,000& 74
t 4,381,000 *36F
Xt 4,440,000 x5
b 4,440,000& 429
,500,000&+155¢
,381,0002 64

—l——v——l——v——l——v——l——l——l——l——l——l—

QI_I

o o Jor o Jor |
Yalia Rl
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w o, Pl
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65,445,000
4,267,000
561,600,000
46,800,000
1,178,550,000
11,835,000
23,670,000
1,104,600,000
23,670,000
87,230,000
11,895,000
1,070,550,000
85,712,000
7,034,000
76,500,000
4,317,000
73,389,000
69,392,000
2,116,000
351,000,000
12,951,000
284,922,000
4,317,000
8,674,000
277,568,000
171,000,000
30,667,000
157,716,000
22,000,000
184,800,000
697,500,000
26,286,000




o = 2028B NS | 202281 09E | .o
= oo | onEz olae | SO uaa 2o
) o E (A) ®) e

— ME SR &AL 28Xt 4,381,0002x4H 17,524,000 &
— MY e AAF 3SR} 4,381,000 1389 604,578,000 &
— M E SR &AL 38Xt 4,381,0002*x2H 8,762,000 &
— MY UER AA 45Xt 4,440,0003«18Y 79,200,000 &
— M E A &AL 58Xt 4,440,0003 %1299 567,600,000 &
— =0l=CHe& A 1SRt 5,500,000 %41 225,500,000 &
— 23ttl=0sr& SAF 18Xt 4,500,000& %12 54,000,000 &
— Z0ll=CHet & S AL 3SRt 5,337,0003 429 224,154,000 &
— 230l=0a3 SAF 38Xt 4,325,000&*3H 12,975,000 &
— Z0l=CHe A HAF 48Rt 5,357,0003+9Y 48,213,000 &
— 23t0l=0sr& A AL 58X} 5,357,000& %32 171,424,000 &
— 0= S AL 5SERE 4,344,0003 +3Y 13,032,000 &
© &A 28 =g=

—J=snNdZUeH A 28Xt 3,770,0003 x40Y 150,800,000 &
—JI=suNdZHSA AA 28X} 3,770,0003 1Y 3,770,000 &
—J=nNdZ0e3 A 38Xt 3,670,0003+7Y 25,690,000 &
—JI=sudZHsA AAF 38X} 3,670,0003 1Y 3,670,000 &
—J=SnNdZUeA A 48Xt 3,670,0003+35Y 128,450,000 &
—J=snNdZ0 R 8AF 18Xt 4,550,0003 %129 54,600,000 &
—J=nNZUERA A 28Xt 4,550,0003+72Y 327,600,000 &
—JI=suNdZ SR SAF 28X} 4,550,000 29 9,100,000 &
—J=SnNZUERA 8 A 38Xt 4,432,0003+19Y 84,208,000 &
—JI=suNdZ S S A 38X} 4,432,0003 1Y 4,432,000 &
—J=SnNZUERA A 48X 4,432,0003+67Y 296,944,000 &
—JI=suNdZUHSA B A 58X} 4,440,0003 +8Y 35,520,000 &
—J=nNZUERA A 68Xt 4,440,0003 x49Y 217,560,000 &
—J=snd=0&& A8 A 1& Xt 4,550,000 «3H 13,650,000 &
—J=uUNdZUERE A8AF 28X} 4,550,000& 69 27,300,000 &
—J=snNdZ0&& A8 AL 38Xt 4,432,000 «4H 17,728,000 &
—J|sSnNMZOsHA HBAF 45Xt 4,432,000 43S 17,728,000 &
—J=snd=0e& A8 AL 58Xt 4,440,000 «4H 17,760,000 &
—J|IsSuNM2OsHA A8AF 65Xt 4,440,000 53 22,200,000 &
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MEZA

52l A BEAL 63t Xt 4,440,00021%1Y
52l ABtAL 73Xt 4,363,000 %59
52l ABEAL 85¢R} 4,363,00021%10Y
A 185} 5,200,00021%100%

A 28t %} 5,200,00021 %1002
At 48¢%t 5,200,00021+8%

| 28t %t 4,050,00081%299%

| 258t %t 4,050,0002%5%

| 381Xt 3,945,00081%20%
A Ab 38¢R} 3,945,00020%1 9

| 431Xt 3,945,00081%271

| 4513t 3,945,0008+3%

| 58t Xt 3,965,0008%15%

| 65t Xt 3,965,0008%220%
NESUEE-EE

2 A AF 28H %} 4,500,000 17
2l 44 AF 38ERt 4,317,000 1
2 AR 48ER} 4,317,0002 %162
2 MAF 5L} SRS =

A 28¢5} 4,500,00021 %70

A 38tZt 4,317,00021%79
AL 43¢5} 4,317,000 259
A Ab 53R} 4,337,00021 4%

| 58tR BHES S

2 S AF 181X 4,500,000 %5
2 A AF 28t %} 4,500,000 +37
2l S AF 38EX} 4,381,000 %5
2 S AF 481} 4,381,000 +35%
2l S AF 5Lt 4,400,000 %3
A 28Xt 4,500,00021 %1409
A 28Xt 4,500,0009 4%

A 38¢%t 4,381,00091%1Y

4,440,000
21,815,000
43,630,000

520,000,000
520,000,000
41,600,000

,210,950,000

20,250,000
78,900,000
3,945,000

,069,095,000

11,835,000
59,475,000
872,300,000
8,294,000
76,500,000
4,317,000
69,072,000
2,616,000
315,000,000
30,219,000
254,703,000
17,348,000
2,132,000
22,500,000
166,500,000
21,905,000
163,335,000
13,200,000
630,000,000
18,000,000
4,381,000




o = 20238001 | 202281 09% | - .o
= 0| ot 3X=E Of Ak < oy MEZH =4
2 st = (A-8B)
= S = (A) (B)
— &AEHEHR A AN 38X 4,381,0003+1H 4,381,000 &
— A SR A AL 45X} 4,381,000@ %130 569,530,000 &
— & EHER A AL 58X 4,400,000 x23H 101,200,000 &
— MEHEHR A A 5SERF 4,400,000&%2H 8,800,000 &
— AEHER AABEIX} EESE 1,063,000 &
—=23t0l=Uard A A 28X 5,500,000& %39 214,500,000 &
—23t0l=HEHR A AF 28X} 4,500,000 %x8H 36,000,000 &
—Z23t0l=UHaErR A A 28X 5,500,000&%x4H 22,000,000 &
—=2St0I =S A AF 38HX} 4,325,000 % x2H 8,650,000 &
—Z23t0l=HErR A AL 48X} 5,337,000&%x27H 144,099,000 &
—=Z2St0I =S A AF 48HX} 4,325,000 *4H 17,300,000 &
—=23t0l=Uard A A 58X} 5,357,000 x5 26,785,000 &
© s HESD g2 =g
—35%8*90,000& *3Z Zf*x2 I S| 18,900,000 &
gAH:| 19,416,600,000 &
5120 =d 5+ = = = =
5121 - - -
S|l =
. _ @
5200 M LD|2+2 = = = = =
5210 M2+ = = = =
5216 - - -
MAE PRI
gl - &
5400 W24+ 1,556,534 1,895,084 A 338,550
5410 0l = 0| Xt ==& 41,434 80,920 N 39,486
5411 41,434 80,920 N 39,486
0l 20| Xt @© Ol 20l At
— 02 Ol Xt 28,000,000 28,000,000 &
ORE == N:EE=10IDN; 13,434,000 &
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o = 2028B NS | 202281 09E | .o
= glaron | ax=a opros | SAZ R 2o
% 2t s (A) 8) )
2[5 41,434,000 &
5420 J|Et W = 2| %= ¢! 1,515,100 1,814,164 A 299,064 1,515,100,000
5421 1,515,100 1,814,164 A299,064
& =2l @ &=
— &2/ 1,510,000,000& 1,510,000,000 &
® 22 AAHIA
— 2= ALAEIA 100,000 100,000 &
® 2228 2 £=¢ 5,000,000& 5,000,000 &
gl 1,515,100,000 &
1300 DA XHAHOH 2= 3 4 862 A4, 859
1310 S & D& XFAFDH 2 =2 3 4 862 A4, 859
1311 E X 02 CH - - - 2B - &
1312 A= 0H=2CH - gl - ¥
1314 1 1 -
JIAHD| 0 =2CH ® WH=2Z=X 1,000 1,000 &
gl 1,000 &
1315 1 1 -
D" S 002 CH ® W=2=X 1,000 1,000 &
gl 1,000 &
1316 1 4,860 AN4.859
XS e300 20 ® JH=2Z=X 1,000 1,000 &
sl 1,000 &
1317 - - -
& A OH2HCH
&l _ @
N2 = e & H 109,647,717 110,457,955 A810,238
DIAFEE D0 X2 = 306,805 A306,805
| 1100 J| =S S Atk = 41,342,302 AN41,342,302
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20232 H A T

20223 H A

g ZADI-OH
=ole | amEZ olae | SO 3o
o g s (A) ®) e
1110 - 40,852,786 | 240,852,786
S R=DN=]
8l
1120 - 489,516 A489,516
Jlet=s XAt
2Rk #
EZRsEM - 41,035,497 | 241,035,497
2120 - 60,799 260,799
ol=32
2Rk &#
2130 - 40,535,243 | £240,535,243
H43
8l
2140 - 439,455 439,455
JEt=
2Rk
s A 108,647,717 110,764,760 21,117,043

12/101




A= O & A

(20234 03& 01L2E 2024E 028 292 NtXI)

(Bl &)
o = 20233 HIE | 202230 = ooy
— = 0fl Aroy 3XIEZ Ofl AbA T AE2H 2o
g = (A) (B)
58,374,990 57,191,458 1,183,532
4110 DB 44,361,751 43,461,723 900,028
4111 04,474,727 04,327,718 147,009
DAZ0 < MBUE AHHIGMA BE>
@IEAZ X
—DZ 0 24,474,727,000 04,474,727,000 &
S 24,474,727,000 2
4112 1,663,918 1,609,439 54.479
DAANAD < MBUE AHHIGMA BE>
@IEAZ X
—DANZ 1,663,918,000 1,663,918,000 ¥
B 1,663,918,000 &
4113 10,957,324 11,066,553 ~109,229
DAAELY <% MEUE QHHIGMA BE>
® LIS 2 A}
— AFBHEFD| 32%100,000 972 2,100,000 &
® DR
— HUDAE VLA 35,0008 «330 A1 2% 15Z %254 346,500,000 &
— EZNAEVLALZ 35,0008 «280AI 2% 15Z= %254 294,000,000 &
— AXHE 202 56,0002 +640A| 25T %25t 1,075,200,000 &
— =] 50,0002 60% 157 %254 )| 90,000,000 #
— HEE| LAR MU 45 000250 Al 2155408 67,500,000 &
— HEEI| AR 2 56,0002 #3Al 2x15F 28] 5,040,000 &
OIMESEIp =
—NZAAZ 350,000%2 700,000 &
—LHEALAFE 200,000%10 2,000,000 &
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20233 HH =

202258 H A

ot = e = AZtoH ~
- — = = 0fl AreH 3XF=Z Ol At (A-B) MEZHA = 9
= g = (A) (B)
—HE A AZ2,000,000*7 14,000,000 &
(@) J T A
—20J E A 500,000%20 10,000,000 &
(OMESEZF=10:PAF=
-3 M =E 8,952,744,000 8,952,744,000 &
® 2NEE O
—S2MERHdE I A AFE] 1,000,000%8H 8,000,000 &
® WAJACIMEIE & A3
—WRCIHEIE & A= 1,000,000&%x8H*103] 80,000,000 &
@ Hetd HESH| Z2A=
— HESH| T2t AIE 52,000& *30Al Z=+2 4 BFx2 Il St 6,240,000 &
— HESH| 02t AFZE 55,000& *30Al Z=+1 I EFx2J St D 3,300,000 &
8l 10,957,324,000 &

411 3,214,144 2,800,810 413,334

NIAHEREZ ® W& AtstAZ 22|
— BHAEREZ 147,000,000& x9H & 1,323,000,000 &
— MolEAS2== 10,000,0003 901 & 90,000,000 &
®© W& =00HZ 22|
— U2 AF A= 222 700,000 %*230H *12 4 & %0 86,940,000 &
— JIEt & At F 2E 2 600,000&*121 7,200,000 &
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—HEESEMNE UEXHEE 23l 400,000 400,000 &
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— )| OHEAA A2 2 100,000 204 (312 200,000 2
— IS WSS ASD 2Q2HE AALAZ 1,000,000 1,000,000 &
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—ZOA Y2 2422 100,000 100,000 &
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—HD B2 =X 500,0009 «4%+13]_15HH 2,000,000 ¢
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BHAI: 154,800,000 &

4 185,864 1,385,060 1,199,196

e, ® HOIHEES 28 01| 8 H2lHl 2,000,000 %23 4,000,000 &
® QA HLAF L QA2 B2A
— 3|2 AF 22| 45,375,000 45,375,000 &
© BRUHEAHD AAE X B4
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@B M SHAIE &1 X2
—SMTXICHY AHXIY Q2|2 X M2 DHY 7,000,000 &
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—Ste AL 9 =X XD HSHSISAF AAMH] 10,0004, 18,000,000 2
—StS AL O 21| KR HSHSISAF 2HAIH] 2,000 1 2,400,000 ¢
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® Aleg|a
—ZICHALSH RS 2 TH2H| 100,0008 +8Z CHx2 8t )| 1,600,000 &
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Hl 250,000& 250,000 &
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=]
SR EIF 20 349 100,000 %32 300,000 &
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—£8 X2 702%20,0008 1,400,000 &
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